Error with measuring the angle of elevation

Open up the GSP file:     error with angle of elevation

1.  Change where the observer is standing by moving the point labeled “eye level”.  Do not change any other objects. 

a. First, move towards the object.  What happens to the angle of elevation? What 

happens to the measurement of height? Why?

b. Next, move away from the object.  What happens to the angle of elevation? 

What happens to the measurement of height? Why?

2.  Leave the height of the object and the observer’s position fixed, but worsen the underestimate of the elevation angle by moving the point labeled “undersight” away from the point that indicates the top of the object. What happens to the calculation of height with this underestimate?

3. Leave the height of the object fixed and the observer’s position fixed, but worsen the overestimate of the elevation angle by moving the point labeled “oversight” away from the point that indicates the top of the object. What happens to the calculation of height with this overestimate?

4.  All of these measurements are in centimeters.  Suppose they were meters, what calculations would change? Which would not?  

5.  Conjecture as to how many degrees you can be off when measuring the angle of elevation to obtain a height measurement that is within 
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 of the actual height. Make sure to state anything that may affect this such as how far away from the base of the object you are standing. 
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